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. 2sin( 2 —a|+4
J”JJCLE@%ﬂ,ﬁM?UﬁZﬁlE@Eﬁ%jﬁd=lcosa_551na+4l= ( 6 ) e, (84%)
15 K
jj]Zsin(%—a)e[ -2.27, bk de [¥2,342].
ey A (1045)
R AU A SHE AN S A
MBI (1) a=0,(x) =10 BIRI3x] +31x =21 =10, «ooevveeeeemmmmmmeniiiinieniiiee (14%)
—:I:Ix>2 E—J‘ T%ch(x)>10$§ﬂ$j‘73x+3(x 2)>10 ﬁ{’{ﬁ‘fx>% .......................................... (26})
%’[0<x<2Eﬁ,ﬁ%fﬁf(x)210%1{3?\]396—3(96—2) =610, TOffE; -oereerrrrrrerrrre (343)
M <0 H#,Z:%iﬁf(x)210%1{35\]—3x—3(x—2)>10,ﬁ¥?%x$—%. .................................... (4743)
2 1 i, R4 f(x) =10 E’Jﬁ’%%ﬂﬂ(—w,—%]u[%,+w). ............................................. (54%)
(D) PR F(x) >5 EMSE LA F(x) 55, vreeeereeommsesomsse it (6 4%)
M13x+al +31x =21 =13x+al +13x=61=13x+a— (35 —=6) | = la+61, eerreeeeeeiii ... (843)
FELA T a +61 35, @ +6 >5 BY @ +6 < =5, ceeerrremrmmmeneteeetenmmitiitiiteteteeess st bttt (94%)
B a> -185a< —11.
B a BB ( =00, —11) U (=1, 4 00 ). veeseeseesessessiannassasiasiesssos b aneese e s s s (10 43)

NI B A LR EE: http://www. gaokzx. com/  FRENEE 2 &% &1 A & 2RI & 22 )

— 7 —



	文科数学0514
	文数高三考前模拟详细答案



